BXfhiRAA &3S /\—{¢
RoHS$5 & ¥ k57 5 (D-ALD%) D-BIT D-BII:FR D—-BII- §I
BIRIEBAIN—IZ B> TNB I A 7T BEL CHHWEEWTWE? V¥ XY —CF

BB 5, m

DITLDEAIKEIHELETNOT. KEIEZDHTEEA,
<D-BI D-BI:FR D-BI-S|> QEIRZ A TOFEBARIL FTT, BELITLEEMN TTDT, EEETLICHRTREAN
<. BIRMBREZFNIZEREBLELALSMMDBIRS A TD-GL ) —XGEELERTIHER
CIFZa0Y,
Q@RI FESIC+DERITHEEFEZLTHYEITDTRSAN—TRBIZMYDITE5NET,
@FFMERL FOBIZFAOUIy v EFERALTHYEE ARL—XTT,
OFRAA FFEBITHEITLZFALTVWETODT, #HEEZHHLTHLILOBELAEY TEA,

D-AIl D—-AII:FR D-AIL §I

®SlI2 4 7IFABRT, TLOMBITZHODIEETT,
DEBEEBZITELTLES,

BEREMER | A-L2F7YL2& H (9) (kgh
D-BIT 8X 60 |D-AT 8x 60SUS | M 8X1.25] 60 [78.5] 5.5]13 | 40|13 | 70 ] 300
D-BM10X 50 | D-AIT0X 50SUS | M10X1.5 | 50| 70| 7 |13 | 40|17 | 90 | 300
D-BIT10X100 | D-AT10X100SUS | MT0X1.5 |100 | 120] 7 |13 | 40|17 | 110 | 300
D-BII12X 50 = M12X1.75 | 50 | 73] 8 |15 | 50|19 | 155 | 500
D-BI12X 70 |D-AMI2x 70SUS | M12X1.75 | 70 | 93] 8 |15 | 50|19 | 170 | 500
D-BIM12x100 | D-AII12X100SUS | M12X1.75 |100 | 123] 8 |15 | 50 | 19 | 190 | 500
D-BI12X120 | D-AI12X120SUS | M12X1.75 |120 | 143] 8 |15 | 50 | 19 | 205 | 500
D-BI12X 150 | D-AI12X 150SUS | M12X1.75 |150 | 173] 8 |15 | 50 | 19 | 225 | 500
fit # E <MB-M10>300kgf <M12>500kgf <M16-M20>700kgf D-BI16X 70 | D-AW16X 70SUS | M16X2.0 | 70 | 97|10 |17 | 60 |24 | 290 | 700
#OH ALRFok SSA004E D-BII16X 100 | D-AT16X 100SUS | M16X2.0 |100 | 127] 10 |17 | 60 |24 | 330 | 700
£ M SSEEERQL D-BI16X 130 | D-AT16X130SUS | M16X2.0 |130 | 157| 10 |17 | 60 |24 | 370 | 700
E  # ODBm:sAOTLLILGEE” +5° ) /R D-BI 16X 150 | D-AII 16X 150SUS M16X2.0 150 | 17710 |17 | 60 |24 | 395 | 700
@D-BII-FR: TF L TOEL VI AGH T L) U L— D-BI16X 180 | D-ALL16X 180SUS | M16X2.0 |180 | 207| 10 |17 | 60 | 24 | 435 | 700
@D-BW-$1:> Y3V TL/E D-BII 16X 200 - M16X2.0 |200 | 227] 10 |17 | 60|24 | 460 | 700
RELE BEEE v FHREHEE (SMHRY 04— HUEARE D-BI20X 100 | D-AII20X100SUS | M20X2.5 |100 | 130| 13 |17 | 60|30 | 470 | 700
F—ILATFULRAE D-BIM20x 130 | D-AM20<130SUS | M20X2.5 |130 | 160 13 |17 | 60 |30 | 540 | 700
D-BI20X 150 | D-AM20< 150SUS | M20X2.5 |150 | 180 13 |17 | 60 |30 | 575 | 700
<D-AIl D-AI-FRD-AL: SI> D-BI20X 180 | D-AI20X180SUS | M20X2.5 180 | 21013 |17 | 60 |30 | 635 | 700
- D-BII20X 200 = M20X2.5 |200 | 230 13 |17 | 60|30 | 675 | 700
= D-BII 8X 60-FR|D-AIl 8X 60-SUS-FR| M 8X1.25 | 60 |78.5| 5.5[13 |40 |13 | 70 | 300
S D-BI10X 50-FR|D-ATI10X 50-SUS-FR| M10X1.5 | 50 | 70| 7 |13 | 40|17 | 90| 300
' D-BIT 10X 100-FR |D-ATI 10X 100-SUS-FR | M10X 1.5 |100 | 120] 7 |13 | 40 |17 | 110 | 300
D-BI12X 50-FR = M1ZX1.75 | 50 | 73] 8 |15 | 50|19 | 155 | 500
S 2 D-BI12X 70-FR|D-AT12X 70-SUS-FR| M12X1.75 | 70 | 93| 8 |15 | 50 |19 | 170 | 500
S Z D-BIT 12X 100-FR |D-ATI 12X 100-SUS-FR | M12X 1. 75 |100 | 123] 8 |15 | 50 | 19 | 190 | 500
s D-BII 12X 120-FR |D-ATL 12X 120-SUS-FR | M12X 1. 75 |120 | 143| 8 |15 | 50 | 19 | 205 | 500
S 2 D-BII 12X 150-FR |D-AI 12X 150-SUS-FR | M12X 1. 75 |150 | 173] 8 |15 | 50 | 19 | 225 | 500
8§ 2 D-BI16X 70-FR|D-AT16X 70-SUS-FR| M16X2.0 | 70 | 97| 10 |17 | 60 |24 | 290 | 700
S 2 2 28/ D-BI 16X 100-FR [D-ATL 16X 100-SUS-FR| M162. 0 [100 | 127 10 |17 | 60 |24 | 330 | 700
== D-BII 16 130-FR |D-ATI 16 X 130-SUS-FR | M16X2.0 |130 | 157| 10 |17 | 60 | 24 | 370 | 700
D-BIT 16X 150-FR |D-ATI 16X 150-SUS-FR | M16X2.0 |150 | 177| 10 |17 | 60 | 24 | 395 | 700
D-BIT 16X 180-FR |D-ATL 16X 180-SUS-FR | M16X2. 0 |180 | 207| 10 |17 | 60 | 24 | 435 | 700
D-BIL 16 X 200-FR - M16X2.0 |200 | 227] 10 |17 | 60|24 | 460 | 700
D-BII20X 100-FR |D-ATI20X 100-SUS-FR | M20X2.5 100 | 130| 13 |17 | 60 |30 | 470 | 700
D-BI20 X 130-FR |D-AII20 X 130-SUS-FR| M20x2.5 |130 | 160| 13 |17 | 60 |30 | 540 | 700
D-BII20 X 150-FR |D-ATI20X 150-SUS-FR | M20X2.5 |150 | 180 13 |17 | 60 |30 | 575 | 700
fit % = <MB-M10>300kgf <M12>500kgf <M16-M20>700kgf D-BII20 X 180-FR |D-ATI20X 180-SUS-FR | M20X2.5 |180 | 210| 13 |17 | 60 |30 | 635 | 700
BOE RLhFub SUSI04E D-BIN20 X 200-FR - M20X2.5 |200 | 230] 13 |17 | 60|30 | 675 | 700
2 M SUSSOARIRC) o D-BII 8X 60-S| [D-AIl 8X 60-SUS-SI| M 8x1.25 [ 60 [78.5] 5.5[13 [40[13 | 70 [ 300
B8 QDAY RRTLYTAGED 5 VR D-BIL10X 50-S||D-AIL10X 50-SUS-SI| M10X1.5 | 50 | 70| 7 |13 | 40|17 | 90 | 300
e Ak T D-BIL10X 100-SI |D-AIL10X 100-SUS-SI | M10X 1.5 |100 | 120| 7 |13 | 40|17 | 110 | 300
o D-BII12X 50-S! = M12X1.75 | 50 | 73] 8 |15 | 50|19 | 155 | 500
RENE NOR—|k

] D-BI12X 70-S||D-AT12X 70-SUS-SI| M12X1.75 | 70 | 93] 8 |15 | 50|19 | 170 | 500
) 8 D-BII 12 100-S1 |D-AII 12 100-SUS-S1 | M12x 1. 75 |100 | 123| 8 |15 | 50|19 | 190 | 500
D-BIT 12X 120-S| |D-AI 12X 120-SUS-S| | M12X 1. 75 |120 | 143] 8 |15 | 50 | 19 | 205 | 500
D-BIT 12X 150-S| |D-AT 12X 150-SUS-S| | M12X 1. 75 |150 | 173] 8 |15 | 50 | 19 | 225 | 500
D-BII16X 70-SI|D-AT16X 70-SUS-SI| M16X2.0 | 70 | 97|10 |17 | 60 |24 | 290 | 700
X UsIEEEE L. S ESES, D Al D-BII 16X 100-51 [D-AII 16X 100-SUS-SI | M16X 2.0 |100 | 127] 10 |17 | 60 |24 | 330 | 700
XSN—WRIZET B EE ' D-BIT 16X 130-S| |D-ATI 16X 130-SUS-SI | M16X2.0 |130 | 157| 10 |17 | 60 |24 | 370 | 700
BEBLETOT, BIEFTTER, 519 1o D-BII 16X 150-S| |D-AII 16X 150-SUS-SI | M16X2.0 [150 | 17710 |17 | 60 |24 | 395 | 700
oY LEVE S BREVKLET, W D-BIT 16 180-S| |D-ATL 16X 180-SUS-S| | M16X2.0 |180 | 207| 10 |17 | 60 | 24 | 435 | 700
! L1 D-BII 16X 200-S| - M16X2.0 [200 | 227] 10 |17 | 60|24 | 460 | 700
| b D-BII20X 100-S| |D-ATI20X 100-SUS-SI | M20X2.5 |100 | 130| 13 |17 | 60 |30 | 470 | 700
o | D-BII20X 130-S| |D-ATN20X 130-SUS-S| | M20X2.5 |130 | 160| 13 |17 | 60 |30 | 540 | 700
Ty — D-BIN20X 150-S| |D-AII20 X 150-SUS-SI | M20X2.5 |150 | 180 13 |17 | 60 |30 | 575 | 700
! H D-BI20X 180-S| |D-AII20 X 180-SUS-SI | M20X2.5 |180 | 210| 13 |17 | 60 |30 | 635 | 700
D2 [ D-BII20X 200-S| = M20X2.5 |200 | 230 13 |17 | 60|30 | 675 | 700

[] N o~
HEY A XERYES,

o
0o

&

HE MaE




